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[A]

919 9% 9 RS (CHILD DEVELOPMENT AND PEDAGOGY)

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

[

|

frfofag & @ aF-@ @ &

s &1 fQarel wd el & Hed

T 7 B T 7

() Fédem et afm &t ge @&
TN 1 ¥ Gerar &7 o

Q) MRy oH Rem & | &
foepre @ SEmEr 39 B

(3) fRM Fa@ o & WA B
gmﬁaﬁﬁmaﬁmm
|

(4) FRym fre afd @ oo wIe
@E M HE § G BT 8l

O HaaT H A B O o

T FHEAN € 7

(1) WEads fiaw

(2) RS R

(3) goAIH® f=ic

(4) STAETTS i

frffeag & & dF-@1 & FUA

A & [l & a=ew ¥ 7T

HI B 7

(1) TN A&l & MR 2 2l

(2) e ST B &

(3) T B WY WG Ig ST
geﬁ'{%aﬁﬁaﬁr%ﬁwﬁ
|

(4) SR e & e T8 e
i B I B SSH qHH
T B B

Level-2/211

1.

g

|

Out of the following which one is
the wrong statement in context of
characteristics and nature of guidance ?

(1) Guidance is assisting the
individual to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

Guidance.
(3) Guidance is  helping the
individual  himself  through

others efforts only.

(4) Guidance i1s  assisting an
individual to find his place.

A type of thinking in which one's
interpret sensation with experience is
known as what ?

(1) Reflective thinking

(2) Perceptual thinking

(3) Creative thinking

(4) Critical thinking

Out of the following which one of

the statement is wrong in context of
characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage of time and they may
even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual
comprehension.

P.T.O.



[A]

4.

|

|®

[~

R & I A b [0 G
QT R B R 7

(1) &R fafy

(2) st fafy

(3) A Ay

(4) STrteer fafy

frefefag & @ f9-@ s orav
g% B [Aar & 7 ?

(1) e qeaiy &l T FHREA
(2) gl 1 T ITEE HTA
(3) @A

(4) R = ¥ e

Frfafad & & @9-91 @& I9g0 &}

e MG |50t N < e s N TR O

HaNhTcHh  ARRH &Y Fa dlichd

T % ?

(1) STEUFTH®  —  OROTHd —
Hph — IAMET

(2) SEYNTH® — SIRERITEE —
RIS — ITET

(3) NERMHE — AINETHE  —
JROTHS —> IS

(4) TEAIFTHS —> TRUMES —> IcaeA
— HAPROTS

I5 fhad @er & ‘iR TEe
AR aAfvia wgfEr & am 87 7

(1) HiféT B
(3) IS

(2) Sifeare
(4) B

Level-2/211

[4]

4.

g

|®

[~

Which is the oldest method for the
study of behaviour ?

(1) Experimental method
(2) Clinical method

(3) Psycho-physical method
(4) Introspection method

Out of the following which one is
wrong characteristic of Delinquents ?
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing

(4) Aesthanic in constitution

Which one of the following is the
correct logical order of observational
learning process according Learning
Theory of Bandura ?

(1) Attentional — Retentional —
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Attentional — Retentional —
Production — Motivational

Who stated that "Personality is the
sum total of innate and acquired

dispositions" ?
(1) Mortin Prince  (2) Allport

(3) Valentine (4) Cattell



[5] [A]

8. F=fafea & 9 HH-AT fJHE $ dewd 8. Which one of the following is false
¥ oG FE T 7 statement in context of Development ?
(1) fom ¥ uRgdw Fied & 2| (1) Development involves change.
OAREEASIES Vet W B 2 (2) The development pattern is

unpredictable.
(3) RPwE e, ugEEd e @ (3) Early development is more
SNl T S FI?WE(“T B 2 critical than later development.
4) fgeE dRuFEar Td S @ (4) Development is the product of
SOE B B maturation and learning.

9. ﬁ?oﬁv'*ﬁ IRIRE &7 q dSH 4 9% 9. Girls surpass boys physically in :
B ® ¢
(1) Jsraraeen § (1) Infancy
(2) TR TEEEn | (2) Later childhood
(3) gd S § (3) Early childhood
(4) fpeaeen | (4) Adolescence

10. Ffafed § & d9-T8 ERRECES 10. Out of the following which one is
TIEE TG B HeEE & i the subject matter for study of

T ? Gestalt Psychologist ?
(1) HsHIHh TishaTd (1) Cognitive processes
(2) Ja (2) Consciousness
3) ‘\:I":l'a(‘ﬂi Y ¥ qEE R FEeie (3) Mental and behavioural
BERIY processes a wholes
(4) RaE & T AR EESIY (4) Modes and  problems of
existence
11. Fl?o'm ® ﬁ'q’ TN B OBES | 11. What did Freud consider the paternal
fpedl TFanfea fopam & ° love of girls ?
(1) STEHE wEeT 7t (1) Oedipus complex
2) sﬁ?@T AT If (2) Electra complex
(3) @Hq A (3) Narcissism
(4) TR @t wE (4) Feeling of dependence

Level-2/211 P.T.O.
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12.

FHA-FHA AT TA-A B q=d
YT AT &l ol § & g &
Y T Ad & AT IGH b I
B 3, I8 AATTHA H HiA-A1 R
HeT & 7

(1) I &1 a9

(2) TR O H R

(3) u1g 9 g wel &

(4) 99 F e

Freifafaa & @ aF-a sfaqdl a9
YhY A i AT B 7

(1) Femdardl S AE=is:
(2) T Afsd @9 § T
(3) A 3 Ty RS & g9

(4) T AR # 9WE A I 4
TR AT

frafofed & @ d9-8 & 5w

“Ha e’ BN YA @@ SEdn

g ?

(1) IRRFT — aHIR®e  HAdiid —
e fRef

) IRl —» "FfE REd —
AR STefRT

(3) Ry —» riRe et —
A fRafa

4) R —» AFRke Rafld —
RS 9T

Level-2/211

[6]

12.

13.

Sometimes the children of gifted
parents are born with less intelligence
than their parents or vice versa,
which Law of Heredity is called ?

(1) Law of Regression
(2) Law of Selective Traits

(3) Law of Maternal and Paternal
Lines

(4) Law of Chance

Which of the following is the

characteristic of introverted thinking

type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectual
pursuit

(3) Supports theory with facts

his

insistence and vehemence

(4) Propagates views  with

Out of the following which is correct
sequence given by James Lange's
"Theory of Emotions" ?

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state —
Bodily expressions

(3) Situation — Bodily expressions
— Mental state

(4) Situation — Mental state —
Bodily disturbance



15.

frafofea & & P9-0 6 ordfe
# faQwar 78 ® ?

(1) SRR

(2) e qRREfT F TR

(3) oTed 9

(4) FRAT H et | B

Frifafad & & $F-8 T geremehar
B AT TMed W SNl AEHfeHd
T | Wfuied 7&f @ § ?

(1) Herar STt

(2) T qE Bl @I

(3) &=

(4) Gepea fEToT

frfafeg & & @9-9 wh faQwar

gl S=e ) gfe @ IugH e

g7

(1) Teit & IR Er & Hied 2

(2) FSA TR BEN P TERT B

(3) 90 WBR H SMEMRAT WA &
e I] ¥ SR §ed SREh
T a8 2

(4) S HB IBA G A BT & I
EECAUECE EANICEICEa RS K|
P MATHAT BNl 2l

qA:EY e w1 Y e @ A

g7

(1) 10 9 12 a9

(2) 69 12 a9

(3) 11 ¥ 16 a9

(4) 8 § 10 a9

Level-2/211

[Z]

15.

18.

[A]
Out of the following which one is
not the characteristic of insight ?
(1) Incidental
(2) Response in novel situation
(3) Habit strength
(4) Response spontaneity

Out of the following which one
the
prescribed by Gordon in

is not stage of creativity

his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar

(3) Deferment

(4) Concept formation

Out of the following which one
characteristic not suits to gifted
children ?

(1) Learn rapidly and easily.

(2) Perform difficult mental task.

(3) Knows about many things of

which most of the students are
unaware.

(4) Much drill is required to retain
what he/she has heard or read.

What is the age range of puberty
stage ?

(1) 10 to 12 years

(2) 6 to 12 years

(3) 11 to 16 years

(4) 8 to 10 years



[A]

19.

frfefed & @ @a9-@1 @ 3 &
foreaes aderr @ R T8 & 7

(1) ST STer TerT

(2) T H b [ETET qLer
(3) & o= e

(4) U TATST g

S g & AgER S== fH oy
o H I o faeBi e § 7

(1) 6@ 8a%
(2) 87 109
(3) 78 9T
4) 119 1499

21. I8 [T Fal o1 6 ‘U AR I

IO # gREAE BT & Riom d
I T 9 o & e T 87 7

(1) =9
(2) feawE
(3) SfepEH
(4) Bt

22. 9= B W g1 WA ged w

iRl H B e @ gl @
M FEd & °

(1) Giaftes Rerar

(2) widfte HagAsiear

(3) Hiafes fa=m

(4) wiatee qmeA

Level-2/211

[8]

19.

Out of the following which one is
not the type of performance test of
intelligence ?

(1) Army alpha test
(2) Koh's block design test
(3) The cube construction test

(4) The pass along test

According to Jean Piaget between
which the
abstract reasoning ?

age child develops

(1) 6to 8 years
(2) 8to 10 years
(3) 7to 9 years
(4) 11 to 14 years

21. Who stated that "An individual is

intelligent in proportion as he is able
to carry on abstract thinking" ?

(1) Terman

(2) Dearborn
(3) Buckingham
(4) Calvin

What is the process of releasing the
hidden emotional suffocation and
powers inside the children called ?

(1) Emotional stability
(2) Emotional sensitivity
(3) Emotional catharsis

(4) Emotional competency



23. f=fofad & @ #9-d1 ws wifafy

foe SugE 7@7 & ?

(1) e argar e § arRager Refd
Y& &

(2) foenfl & et & I &
(3) T TN
(4) Fem ¥ foam-fomst

Ao = g1 gheer § fem #E
freifa & ?

(1) 12 2) 10
(3) 30 4) 31
25. QAR TSN & O & w9 # B9
ST ST & 2
(1) 3o Teo UMETEH
(2) YEdTSil
(3) &
(4) sia

qQfEmies dEe B SIS FaT
fopar o 7

(1) o go TUETEH
(2) Sto Tdo AR
(3) 3o Hlo Bl
(4) Sflo THo WHIX

Level-2/211

[91]

23.

26.

[A]

Out of the following which one
activity is not suitable for satisfying
the instincts curiosity ?

(1) Awarding positions in the class
or school

(2) Answering the questions of the
students

(3) Problem solving
(4) Discussion in class

How many cards prescribed in
Rorschach Ink Block Test ?

(1) 12 (2) 10
3) 30 4) 31
Who is known as father of

Educational Psychology ?
(1) E. L. Thorndike

(2) Pestalozzi

(3) Herbart

(4) Froebel

Who invented sociometric technique ?

(1) J. E. Anderson
(2) J. L. Moreno
(3) E. B. Hurlock

(4) G.S. Marmor



[A]

21.

URFET & FTEAR AR & FHIGHITD
farepra @0 el oraR HN-H § 7

(1) Il S\ ™ A4

(2) YedM S9M YA Hif
(3) uReH B a9 S
(4) IEALNAT I Rerar

M@ & AR @M @B Bl
e & ‘fer qRuear SR &al
S B 7

(1) Araraeen

(2) SrEEET

(3) fepsmRraen

(4) Mg

29. V9 HE Akl AU foERi A el

Bl fhEl TH qHX ik & TgEY ST
& HT A1 & T T8 IFIHT BT
e B, A 34 TER H PR dE-A
SR Sl V& giekT el § 7

(1) TR

(2) e

(3) o™ T

(4) faemo=s

frafafag & @ S9-91 S9Een &)
A 99T fqeR 78 2 ?

(1) ot B FH
(2) gaar

(3) SIS ISR
(4) THAT

21.

30.

Which is the fourth stage of psycho-
social development of an individual
according to Erikson ?

(1) Intimacy v/s isolation
(2) Identity v/s role confusion
(3) Industry v/s inferiority

(4) Generativity v/s stagnation

According to 'Ross', which stage of
development is known as 'Pseudo
Maturity' stage ?

(1) Infancy

(2) Childhood

(3) Adolescence

(4) Adulthood

When a person tried to make his/her
thoughts and action according to
other whom he like to follow, then
this kind of activity called which
type of defence mechanism ?

(1) Identification

(2) Projection

(3) Rationalisation

(4) Displacement

Which one of the following is not
the common
childhood ?

(1) Depletion of Energy

speech disorder of

(2) Lisping
(3) Slurring
(4) Stuttering

Level-2/211
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[A]

[T - II (PART - II)
A7 (< g 3fSH) [ LANGUAGES (HINDI & ENGLISH) |
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31.

fheg  wEaEs g @& fE
AfRTaTe e § g 8 7
(2) B
(4) AIq

(1) S
(3) T

32. [ focq § ‘dahared®’ a@d & ?

(1) Bram a3 = 2

(2) A A omel @ & =

(3) B AT & B HEH N B S
(4) TSI YT HAA B B

33. U @ 3 @ fpE = #H @

R ?

(1) A - T
(2) FT -
(3) femiisT - &4

(4) qgU - A

34. GUE-FE # e § IH-AT A

gaTe ?

(1) BIHET - & q I il B
(2) R - 9 § 9 o ar

(3) RIS - I & TR AfKT

(4) ggEle - 9y & fow gt

Level-2/211

35.

Fret & & di9-a1 9= ‘of’ Sued @
ffig 78 ? °
(1) g
(3) oryfed

(2) g
(4) SFFTH

3. M9 # 9 59 ey &1 #9 Tog

g7

(1) " ® I=R0 ©E ot B

(2) et @i @i o A aen |
P WA B

(3) ‘@ AR T B} od WX o Fa
S Bl

(4) ‘g A ‘@’ e aot wEw 2

37. 59 fohea & ol 9= fRew 8 °?

(1) drstars, AsiH, &
(2) FRR, SARTIENRT, FHEMI

(3) FAH, STHHH, TeEaR
(4) fenea, e, &Hal

38. YgigarEl v=a & ded § oG faeeq

gﬁﬂ'\f:

(1) S - =T, TE, Al

(2) SEFHR - 3, T, 7%

(3) fBRT - A, @, g

(4) @reT - B, Aggd, SfERy

P.T.O.
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39.

41.

42.

fpe are # uRwcEEE oo @
ST B3N ® 7

(1) F Hicht e T g

(2) 3@ 9 99 # §gq A PRI
(3) B & NEM =T 2

(4) RAS T8 TS ol

40. QUi & 99g Al GeEar S §9i

B & SH A B Helh Qi
ﬂﬁQ:

(1) S99 & [F® & TR

(2) gul AR A

(3) R R @t drest BT ST v
(4) AW % AW STl & aH

e A § gaam el oRgRE T ?
(1) TR J&T% 98 Tel a8 o

(2) & ST B X @ g

(3) REm +ft @/ &, e B

(4) W B FB W IR T A @

foeir s @ g @ ogfed g™
TR

(1) 9 - 9%

(2) R - Fe=ERa
(3) faqga - wfer
(4) 7YX - =g

[12]

43.

B & d€9 § @9-w W oglaa

g7

(1) Pl g% W e w® &1 -
CELCNER)

(2) T 9 P 9 foredt Bl -
faeprien foma

(3) s & AR 9" W R -
REXCAEDI

(4) T2 foEeT § ST @Ml @I -

s Be

44. 9 faew ¥ dfe-faese ogfam R ?

(1) sfeear = afe: + T
(2) eside = omsfl: + ae
(3) ToRr = + I

(4) qUETA =T9: + FA

45. /91§ @ 59 e’ & 7 g 78

g7
(1) & 9 Bl ARAT -
B ST 3T
(2) SRIE S BIAT - g9 Bl S
(3) R 1 TENT U q ST -
o TRHH BT
(4) gt H S A - qE GAH B

Level-2/211



3T (ENGLISH)

[13]

[A]

Direction : Answer the following questions by selecting the most appropriate option.

6.

Choose the correct option to fill in
the blank :

This pen is both good ........ cheap.
(1) as well as

(2) as well

(3) but only

(4) and

41. Select the appropriate preposition to

fill in the blank :

His hut is ......... hotel Taj.
(1) above

(2) out

(3) besides

(4) beside

Choose the correct meaning of the
underlined words :

The law and order situation will only
become worse in the state due to the
riots, if the government does not do
something right now to nip it in the
bud.

(1) To plan in detail to stop a threat

(2) To destroy the problem in the
initial stage only

(3) To arrest the culprits

(4) To stop something harmful in
the initial stage

Level-2/211

49.

Select the correct option (Phrasal
Verb) for the underlined word :

She rejected his request to take her
home.

(1) turned up
(2) turned down
(3) turned out
(4) turned off

50. Select the appropriate modal to fill

in the blank :
Trespassers ........... be punished.
(legal notice)

(1) shall (2) may
(3) should (4) ought to

3l. Choose the appropriate preposition
to fill in the blank :
What is the time ........... your
watch ?
(1) in (2) from
(3) by (4) on

52. Select the correct option (Phrasal

Verb) for the blank left in the
sentence :

Cholera has
(1) broken out
(2) broken down
(3) broken up
(4) broken off

........... in this village.



[A]

53.

Choose the part of the sentence
which is incorrect :

The party president made
()
Rakesh a M. P. candidate
(b) (c)

for the coming election.

(d)

(1) a
3) ¢

2) b
4 d

94. Choose the part of the sentence

which is incorrect :

He did not  keep his words
(a) (b)
to pick himup  from WTP.
(©) (d)
(1) b (2) c
(3)d 4) a

55. Choose the correct tense form to fill

in the following :

I had consulted my lawyer before I
<vevee.... the complaint.

(1) did lodged (2) had lodged

(3) lodge (4) lodged

96. Choose the appropriate modal to fill
in the blank :
He ............ listen to the stories of
his Grand Ma before he slept.

(Past habit)

(1) could (2) shall
(3) would (4) might

[14]

51.

Choose the correct meaning of the
underlined words :

The hostess broke the ice by
introducing the strangers to each
other.

(1) To make people relax with each
other

(2) To make people perplexed with
each other

(3) To serve welcome drink to the
guests

(4) To start a game of puzzle

Choose the correct tense form to fill
in the blank :

Municipality has decided to
the overhead wires.

(1) did away with
(2) do away with

(3) has done away with
(4) had done away with

99. Choose the correct option for the

following :
One who wastes a lot of money is :

(1) frugal
(3) prodigal

(2) recluse

(4) reticent

Select the appropriate modal for the
expression given :

Harish has annoyed his boss today.
He ........ be fired soon. (probability)

(2) can
(4) would

(1) may
(3) ought to

Level-2/211
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[A]

[ - III (PART - III)
Y 3199 (GENERAL STUDIES)

RIS ARG, Tiiched ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

63. TF FHUS fasbal 33 HieX HUST

TF IR & a1 66 HeX §, O 39
R ¥ ¢ &7 g% g 1.32 9t
oY & gt @ g ©

(1) 1000
(2) 50

(3) 500

(4) 5000

140 #HieX =l WL B A
60 fFfi /gver B, 3@ 260 Hiex =

QWHH B IR B H haar 99"
T ?

(1) 18 §&vs
(2) 24 q&FTE
(3) 30 QTS
(4) 32 q&vs

ITIH,
11 9T 38 CRELE
T I w]
gfqerd 2 :

(1 11%
(2) 22%
(3) 50%
4) 40%

EEINR D
g

®
qal B, Ol SGHE @rH
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61.

The length of a wire is 66 metre,
then the number of circles of
circumference 1.32 cm that can be
made from the wire is :

(1) 1000
(2) 50

(3) 500
(4) 5000

62. A train 140 metre long is running at

60 km/hour. How much time will it
take to pass a platform 260 metre
long ?

(1) 18 sec
(2) 24 sec
(3) 30 sec
(4) 32 sec

63. A cloth merchant on selling 33 metre

of cloth obtains a profit equal to the
selling price of 11 metre of cloth.
The profit percentage is :

(1) 11%
(2) 22%
(3) 50%
4) 40%



[A]

afk 4 g&Y a1 6 AR T B H 7
gue gfafed & w12 R’ § @
whd €, @S9 FE A G ST FE
10 g&9 @9 3 #RA 8 §Ue i
P H (b A 7 G0 B T 7
1) 6 2) 7
(3) 8 @ 9

65. g x=1+1\/§ @, @ x> +2x+3
H AN R
() 0 (2) 1
(3) 4 “4) 2

7T 318X IO 1 SFIET U BT -

CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) WUZ

67. Ui ARKEl A, B, C, D @ E #, A,

B 4 Bl Af%T E ¥ @1 3, C 99
=1 8, D, B ¥ BT & T A @
T8, A ZTH BN 99 BleT § 7

(1) B
3) D

2) A
4) E
Th EEGYS IR 100 FH OB

X ST T fawet 40 qdt B, @
SHH & ®

(1) 300 &’
2) 600 ¥’
(3) 780 ¥’
(4) 900 FH’
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65. If x=

If 4 men or 6 women can do a piece
of work in 12 days working 7 hours
a day. How many days will it take to
complete a work twice as large with
10 men and 3 women working
together 8 hours a day ?

(1) 6 (2) 7
(3) 8 “4) 9
1+1 \/5 , then the value of
x2+2x+3is:
(1) 0 (2) 1
(3) 4 “4) 2

The next term of the following letter
series will be :

CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) WUZ

67. Among five persons A, B, C, D and

E, A is shorter than B but taller than
E. C is the tallest. D is shorter than B
but taller than A. Who among them
is shortest ?
(1) B
(3) D

(2) A
4) E
The perimeter of a rhombus is

100 cm and one of its diagonal is 40
cm. Then its area is :

(1) 300 cm®
(2) 600 cm®
(3) 780 cm”
(4) 900 cm’



69. 1 sy d q T & o ¥ vl
forsreng & oren o o7 @ ogu 1 3
T T A H T 2 ;5 ¥ 3 AW
fersrergett 1 fobe ergur # e S,
dfes 8 Feag & 9@ Jo T @

71. =1 At § 70 gE @ S

135, 226, 353, 552, 739
(1) 353
(2) 226
(3) 552
4) 739

Z 5,000 X 12% Y% =<7 &l & q

2 9 & QURI AN T4 Bhgls A
§ X BAT

(1) 72
3) 96

(2) % 84
4) 36
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69.

[A]

Two alloys are both made up of
copper and tin. The ratio of copper
and tin in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio
should two alloys be mixed, to
obtain a new alloy such that the ratio
of copper and tinbe 3 : 8 ?

(1) 3:5

2) 4:9

(3)4:7

4) 3:8

A said "that boy is the grandson of
my mother's husband. I have no
brother or sister." How is the boy
related to A ?

(1) Uncle

(2) Son

(3) Nephew

(4) Cousin

4l. Find the wrong number in the

following series :
135, 226, 353, 552, 739
(1) 353
(2) 226
(3) 552
4) 739

The difference between simple
interest and the compound interest
compounded annually at the rate of
12% per annum on < 5,000 for two
years will be :

(1) 72
3) 96

(2) % 84
4) 36



[A]

73. & gEel & A 520 ®, afy o

ﬂv

S "e @ 4% FH B QAT T
AN BA A 12% g1 Rar g, @
Wa@mw@‘ﬁ,eﬁwﬁ@

Bidl G ® ¢

(1) 210
(3) 270
frefefeq 9ot § 799 9§«
I

G4T, J9R, M20P, P41N, S90L
(1) J9R (2) M20P
(3) P41N (4) S90L

(2) 240
(4) 300

75. U% g9 F @S, ASE T4 TR

AT 19 B, T IER A
et &1 A 545 AR, @ g
T {6 ©

(1) 361 4’
(2) 286 A’
(3) 236 T’
(4) 340 %t

(4) afRoT-ui=H
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[18]

13.

The sum of two numbers is 520. If
the bigger number is decreased by
4% and the smaller number is
increased by 12%, then the obtained
numbers are equal, then smaller

number is :
(1) 210 (2) 240
(3) 270 4) 300

Find the wrong term of the following
series :

G4T, J9R, M20P, P41N, S90L
(1) JOR (2) M20P
(3) P4IN (4) S9OL

75. The sum of length, breadth and

depth of a cuboid is 19 cm and its
principal diagonal is 5v5 cm, then
its surface area is :

(1) 361 cm®
(2) 286 cm”
(3) 236 cm®
(4) 340 cm’
If a person walks 8 km towards
South then turns right and walks
8 km, again turns left and walks

10 km. In which direction is he from
starting point ?

(1) East-South
(2) North-East
(3) North-South
(4) South-West



e a8 aReT e d gt

T & X a8 @ R gea 2
Rl Ser 8, 36 9% 98 SaX fau
I gea 4 fdl @@ 31 oW 98
yRfe farg & el QX @81 & 7

(1) 5 i

(2) 6 T
(3) 3 &
(4) 4 frit
g W = 23, STRONG = 93, I
WEAK XX & :
(1) 40 (2) 41
(3) 43 4) 44
80. R Sa+——=5, A 9a’ + - &
3a 25a
qH 2 :
51 29
1) — 2) =2
(1) 5 (2) 5
52 39
3) == 4y 2=
(3) . 4) .
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11.

[A]

In a row of boys, A is 15th from the
left and B is fourth from the right.
There are three boys between A and
B, C is first left of A. What is the
position of C from the right ?

(1) 9th
(2) 10th
(3) 12th
(4) 13th

A person walks 2 km towards East
and then he turns to South and walk
1 km. Again he turns to East and
walks 2 km after that he turns to
North and walk 4 km. Now how far
is he from his starting point ?

(1) Skm

(2) 6 km
(3) 3km
(4) 4km
If W = 23, STRONG = 93, then
WEAK is equal to :
(1) 40 2) 41
(3) 43 4) 44
80. If 5a+L=5, then the value of
3a
9a’ + 5 18 :
25a
51 29
(H — 2) —
5
2 39
3) — 4) —
3) 5 4) 5



[A]

81.

Hieel gl # fga® & SEE W
‘qeguEl e SFF o & ded A
S At TR E

(1) 11,000 &9
(2) 21,000 &9
(3) 31,000 &9
(4) 51,000 &9

1857 @ NI & & SIGEAN B
EC-SO IR

(1) TeBTE &
(2) HHETR 4
(3) TR |

(4) TR &

83. HXay, 2021 ¥ i ‘3631 UK

SiER eifesd AftqeERe § sRamn
T 3 fhde @t ges o ?

(1) 13

2) 18

3) 21

(4) 24

frefafaa & & @9 siarn & watfys
afy % e T ® R 7

(1) Slo TTo Thdsit

(2) To &MNo fheag

(3) SF=Y veigan

(4) I e diden
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8l.

82. The hero of

84.

The amount which is given to the
sports woman on the occasion of
marriage  under  'Mukhyamantri
Vivah Shagun Yojna':

(1) Rs. 11,000
(2) Rs. 21,000
(3) Rs. 31,000
(4) Rs. 51,000

1857 Revolution
Abdurrahman Khan was related to :

(1) Bahadurgarh
(2) Farrukhnagar
(3) Jhajjar

(4) Yamunanagar

83. How many gold medals were won by

Haryana state in the '36th National
Junior  Athletics Championship',
which was held in February, 2021 ?

(1) 13

(2) 18

(3) 21

4) 24

Who among the following was the
longest serving Governor of Haryana ?
(1) B. N. Chakraborty

(2) A.R. Kidwai

(3) Jagannath Pahadia

(4) Kaptan Singh Solanki



85.

g At ofeH & SR H
FNTIRGT FHIE PN Gfed -

(i) JeIH=il APl & AHY & &Y
P FA ol

(i) ‘sRetar STwEHr & IBE Bl

T % P

(1) Fa@ FI9 (i) T8 &

(2) Fad HI (i) TEl ©

(3) T & (i) AR T & (ii) 7 §
(4) I FIT T E

“Ugadl’ e e ek § @
ferg & 7

(1) ooaq &

(2) 3fEmr #

(3) 8dfi9 ¥

(4) TFTE |

RieprT o e e P A Reg B ?

(1) Hod
(2) d=rge
(3) fear”
(4) Py
ERAN & HAl URg H gqH He
g 9% © ¢
(1) 10

(3) 14

2) 12
4) 06
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[21]

[A]

85. Read the following statements about

Haryana Sahitya Academy :

(1) The Chief Minister serves as the
President of the academy.

(i) 'Harigandha' is the Magazine of
the academy.

Choose the correct code :

(1) Only statement (i) is correct

(2) Only statement (ii) is correct
(3) Neither (i) nor (ii) is correct

(4) Both the statements are correct

86. Where the 'Panchwati' pilgrimage

87. In which district

site is located in Haryana ?
(1) In Palwal

(2) In Ambala

(3) In Hathin

(4) In Ballabhgarh

the 'Chinkara
Breeding Centre' is situated ?

(1) Kaithal
(2) Panchkula
(3) Hisar

(4) Bhiwani

The minimum number of members

in the Council of Minister of

Haryana can be :
(1) 10
(3) 14

2) 12
4) 06



[A] [22]

89. F=fofad ¥ § PW-I/HN-9 Rl 89. Which of the following pair/pairs
7e B/8 7 is/are true ?
(i) 9 9 — FrA BT (i) State Animal — Black buck
(i) I 979 g STERI — S (i) Saraswati Wild Life Sanctuary —
(iii) TEX a7 A SATART — T L Kaithal
(iii) Nahar Wild Life Sanctuary —
s e N T A - Jhajjar
Choose the correct code :
() F= (O (1) Only (i)
(2) (i) 9 (iii) (2) (i) and (i)
(3) (i) &R (i) (3) (i) and (ii)
(4) e (iii) (4) Only (iii)
90. fo=falRaa # {ﬁﬁﬁ HifoTT : 90. Match the following :
qaH M+ Name Place
(A) SRS & T 7 (1) ARA (A) Birbal's Rang (i) Narnaul
(B) STeATe (i) eI Mahal
BEENEI (B) Spiritual Museum (ii) Gurugram
(C) A T=r (iii) IR (C) Chor Gumbad (iii) Yamunanagar
(D) |ies & bl (iv) T=IId (D) Sohna Fort (iv) Panipat
Zc: Code :
A B © @D A B © @D
(1) G G Gv) (@) (1) Gy @G Gv) @)
(2) (u) Gv) @ (1) (2) @) Gv) @ (1)
(3) Gv) ) ) (@) (3) Gv) ) G (@)
(4) () ) @  Qv) @) @) @G @  Gv)

Level-2/211



[23]

[A]

R - IV (PART - IV)

f9s< (SCIENCE)

3T : R 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

9l1.

Tt | 99 B ©
A. gEfRd 98

B. Sif%ad (T gam)
C. T (GHgETa)
7e faeeq g

(1) &ad A waq C

(2) %ad B Taq A

(3) @ad B uaq C

(4) A,BT@q C

92. UH foamedi 7 wer % WigT o & A

RR 2 21 e 8w o R

qq gEA HEA e B B

Freifafad & @ ®F-a1 e aga

Pl A B A A AT Hl FHATH

g7

() 99 & IEFs U a9 9@
S BRI BT

(2) g # e R (smafe
AT B ) q@ § ST
fopar e B

(3) WgT H B @A an R
a9 @ o T A B

4) 9% qgT Iq § 9 & o
a9 @ IgH Al e R
AR T & P A R o=
fopar e B

Level-2/211

9l.

92. A student

Mode of respiration in mollusca is :
A. Buccal respiration

B. Bronchial

C. Pulmonary

Choose the correct option :

(1) only A and C

(2) only B and A

(3) only B and C

4) A,Band C

that a
molecule has two ends, one of which

studies soap
is an ionic end and the other is
carbon chain. Which of the following
option explains the interaction of
soap molecule with oil ?

(1) Ionic end of the soap interacts
with the oil.

(2) The closest end of the soap
(either ionic or carbon chain)
interacts with oil.

(3) Carbon chain end of the soap
interacts with the oil.

(4) Neither ionic end nor carbon
chain interacts with oil since
soap is made up from oil.



[A]

93.

RS & o-H0 Thiv JERT S
g

(i) FH FOMERE B &l

(i) WA 1 FHEHE TN AN
A 7 dehivad ol

(iii) T & L F1 AR B

(iv) IO 1 AT 9T R B

S FEAl § § HA-H 78 8 7

(1) (ii), (iii) T (iv)
(2) (ii) AT (iv)
(3) (@), (i) T (iv)
(4) (1) T (iii)

Uk d H 18 g 5 H 3.42 g GhiE
S| M O (R s B B ST
AT H e ©

(1) 6.68 x 10>
(2) 6.09 x 1072
(3) 6.022 x 103

4) 6.022 x 10!
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[24]

93.

Rutherford's

experiment shows that :

o-particle  scattering

(1) electrons have negative charge.

(i1) the mass and positive charge of
the atom is concentrated in the

nucleus.
(i11) neutron exists in the nucleus.

(iv) most of the space in atom is

empty.

Which of the above statements are

correct ?

(1) (1), (i11) and (1v)
(2) (1) and (iv)

(3) (1), (11) and (iv)

4) (i) and (iii)

94. 3.42 g of sucrose are dissolved in 18 g

of water in a beaker. The number of

oxygen atoms in the solution are :
(1) 6.68x 10%

(2) 6.09x 10*

(3) 6.022x 10*

4) 6.022 x 10!



95. fImm/faamas & Ui 3 STEAe STrEr
yfy 3e 99 ¥ SuRed foda wert
&I AET B Fed B

(1) foct &1 dees

(2) faea @ g

(3) faqms # Hees

(4) [TaEs H s
He|-1 ® Bfew-11 ¥ s ok ad
foheq &1 TAT WX -

HieH-1 Hiaw-11

(i) @b = ¥ (A J&H I B
S At BT TR feeet

qREfd B o
(i) BHE § S (B) B W
aril e aRERa e &
(i) = g F (C) BHH § el
oot g
(iv) ST H (D) 9 F A"
Tt et ST B

(1) ()-D, (ii) - A, (iii) - B, (iv) - C

) () -C, (i) - D, (iii) - A, (iv) - B

(3) () - B, (ii) - A, (iii) - D, (iv) - C

4) 1)-D, (1)-B, i) -A, Gv)-C

Level-2/211
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95.

[A]

The amount of solute present per
unit volume or per unit mass of the

solution/solvent is known as :

(1) Composition of a solute

(2) Concentration of a solution

(3) Composition of a solvent

(4) Concentration of a solvent

96. Match the Column-I with Column-II

and choose the correct option :

Column-I Column-II

(i) Ray through (A) Reflected
centre of parallel rays to
curvature principal axis

(i)) Ray  through (B) Converges at
focus focus

(iii) Rays from (C) Emerge

infinite distance through focus

(iv) Refracted rays (D)

to infinity

Refracting in

mirrors

(1) () -D, (ii) - A, (iii) - B, (iv) - C

) () - C, (i) - D, (iii) - A, (iv) - B

(3) () - B, (i) - A, (iii) - D, (iv) - C

4) 1)-D, @1)-B, i) -A, Gv)-C

P.T.O.



[A]

97.

frefofeg & @ -9 gfFr Sawt
B FEAT T AONG B & O
SAEE & ?

(1) T
(2) =T
(3) IR A=

@) 3=

Th W®R 0.02 x 107 sec 3 94
AN & a8 999 F &8 e A
AT aC # 9 T § 9EE 2
IR T B AT 3 x 10° m/s B A

STl @l R d g0 Enl
(1) 1.0km (2) 1.5km
(3) 3.0km (4) 6.0km

S fRdl g9 @ A &, aigHsad
a9 & S @ Sl 8, df 39 &4 &
7 B 8 7

(1) & S 8

(2) 5@ 9N & I ?

(3) 59 I &

(4) 74 ¥ Hg gRad T & @
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91.

Which of the following process is

responsible  for replacing and

repairing tissues ?

(1) Movement

(2) Mobility

(3) Cell division

(4) Growth

98. A radar is able to detect the reflected

99.

waves from an enemy's aeroplane
after a time interval of 0.02 X 107>

sec. If the velocity of the waves is
3 x 10 m/s. The distance of the

aeroplane from the Radar will be :

(1) 1.0 km (2) 1.5km

(3) 3.0 km (4) 6.0 km

When vapour pressure of a liquid is
equal to the atmospheric pressure,
what happens to the liquid ?

(1) The liquid freezes
(2) The liquid becomes viscous
(3) The liquid boils

(4) The liquid does not undergo any
change



100.

fr=ifoifeg & @ ®9-91 09 g7 8 7

(1) % 99 W & & &9 § IURIq
wf 3 TG Td JEeEih B
a9 q F9 & g

(2) a9 H Aomd Jm T Bfead
e ¥ uRafda &0 3 fiw Re
WA § q 273 9 B

(3) 9% H T, T H AT H HH
2 2

(4) & W % O Een ¥ =@
SEE H GHHY & | TeRH
& HHUET Had &

TS (fer) & afReERer dF & <
¥ 7T

(1) & °) FEg B 2

(2) g% frarfes d qof Reia i
2l

3) B &Y wy gl &
IR B B

(4) A TR BN Db o el
2l
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100.

101.

[A]

Which of the following statement is

correct ?

(1) Material existing as liquids at
room temperature have their
melting and boiling points lower

than that of room temperature.

(2) To convert a temperature on
Celsius scale to Kelvin scale,
subtract 273 from the given

temperature.

3)

The density of ice is less than

that of water.

(4) The

transition of a substance from solid

process involving the

to liquid is called sublimation.

What is incorrect about the

circulatory system of aves ?

(1) Heart is four chambered.

(2) Well developed renal portal
system.

(3) Sinus venosus and truncus

arteriosus are lacking.

(4) R. B. Cs are nucleated.



[A] [28]

102, 999 ¥ dfed O & e RR e 102. Where is the lower end of a lightning
M e R 7 conductor fixed in the building ?
(1) $fid W™ (1) at the top
(2) T RagHt W (2) ata window
(3) AYR Hde W (3) at the base floor
(4) SN % =X (4) inside the ground
103. %’g’cﬁ'ﬂl ﬂﬁzﬁlﬁ EI'F.% S g 103. Bipolar neurons are found in :
(1) Hifar § (1) Cornea
(2) ivsticrear (2) Conjuctiva
(3) e # (3) Retina
4) 74 ¥ (4) Lens
104. T B SN 7 SuRem @fv e o 104. The mineral element present in a
A R chlorophyll molecule is :
(1) HifeteeH (1) Molybdenum
2) HHIST (2) Manganese
(3) ATEE (3) Magnesium
4) dre (4) Tron

Level-2/211



105. SEQT E© SURE @ S #

[

[

SR BNl ®
(1) g (2) FEEEST
(3) WEN (4) g T

Ik Tk oTEHE FE B HEE L

2.5 cm B, T ¥ Rl a%] &I oTafa

HY THA ©

(1) 2.5 71 (2) 10 oW

(3) 11 7°m (4) 15 T°m

g\ E | B o )t i O | )

et & (T @ A H) S |

Trteq o ae @ afed ¢

(A) T &I FABT G B BB &
2 a2

(B) T #H HIRHEA H @ikes ol
B A=t el 2

(C) 919 &1 FiAeBal § i i
Ty v B 2

(D) 19 %l HIREBSAT § THHE T
TR B 2

(BE) T i IR §  HIRAHT {3l
e AECgar Bl g

7e e gie

(1) ATHC (2 BTHC

(3) CTE (4 DTHE
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105.

=
[=}]

ol
]

[A]

Biuret test is used to test the

presence of :

(1) Fat (2) Carbohydrate

(3) Protein (4) Nucleic Acid

If the focal length of a magnifying
glass is 2.5 cm, it can magnify an
object :

(1) 2.5 times (2) 10 times

(3) 11 times (4) 15 times

Cow eat grass and both have cells
(cow and grass). Read the following

statements regarding cells :

(A) Cow cells are bigger than grass

cells.

(B) Cow cells have plastids and

small vacuoles.

(C) Grass cells have cell walls and

vacuoles.

(D) Grass cells have centrosome and

chloroplasts.

(E) Cow cells have cell membrane

and mitochondria.
Choose the correct option :
(1) Aand C (2) Band C

(3) Cand E (4) Dand E



[A]

108. FHfRed ®oM W fmR & < fRu

T HI H GeEdl § F& SR H
TG BN

AREHE (A) : Jgoh, WY R H
Al g S At Had

HROT (R) : J50h Th G Rl b
3l

% -

(1) (A) T (R) A1 T& § R (R),
(A) %l G& e

(2) (A) @ (R) a4 @& § &g (R),
(A) F GEl AT TEl B

(3) (A) & & fFg (R) T ©
4) (A) T & B (R) @& &
Bear v @ @ T B B R O&

HAR T AT HA AT Bl D
QI BT STEAHT BT (R > 7) -

(D) 21t\/z (2) 27t\/E
8 8

R-—r @) 2m R+r
8 8

(3) 2
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108.

Consider the following statements
and select the correct answer using

the codes given below :

Assertion (A) : Parenchyma is the

most abundant tissue in plant body.

Reason (R)

simple permanent tissue.

Parenchyma is a

Codes :

(I) (A) and (R) both are correct and
(R) is the correct explanation of
(A)

(2) (A) and (R) both are correct but
(R) is not the correct explanation
of (A)

(3) (A) is correct but (R) is incorrect

(4) (A) is incorrect but (R) is correct

A ball of radius 'r' is

oscillate in a bowl of radius 'R'. The

made to

time period of its oscillation will be

(R>r):
(1) 27t\/Z (2) 27:\/E
8 8

3) 21 B0 4y om [RET
g g




110. IO HREARY I&T S 8

(1) R Oy o

(2) e ¥ (fege )

(3) T § (T )

(4) 98T |

HAWE ASHR kel H g &
e % a9 S foet & forg
-G S H TART fpAT S § 7

(1) g3
(2) I
(3) g=re

(4) I8
BFGH URad BN

(1) 91 949 &1 9
(2) 99 999 &} 9
(3) oT<: 99 &Y 9

(4) I S &R 0@ qA T &R
= &
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110.

[A]

Complete metamorphosis occurs in :

(1) Silver fish

(2) Locust

(3) Bedbug

(4) Mosquitoes

Which term is used for celestial
bodies that revolve around the sun in

highly elliptical orbit ?

(1) Comet

(2) Meteor

(3) Asteroid

(4) Planet

Lungs develops from :

(1) Ectoderm

(2) Mesoderm

(3) Endoderm

(4) Both endoderm and mesoderm



A oy, ny AR ny dF GOSN B
A omgfar ¥ Fad ww =
o B, @ @ & g9 A
ﬂﬁﬁf’n’ﬁ"f%éﬂﬂﬁﬁﬁ%t

113. If ny , n, and ny are the

fundamental frequencies of three
segments into which a string is

divided, then the original

fundamental frequency 'n' of the

string is given by following :

(1) n=n;+ny +ny (1) n=n+ny, +ny

(2) l:i+i+i (2) l:i+i+i
n l’ll l’lz I’l3 n l’ll l’lz l’l3

3) \/_z\/n71+\/a+\/n73 3) \/_z\/n71+\/a+\/n73

(4)i=1+1+1 (4)i:1+1+1
114. BERRY &l BRI Gl g 114. Atomicity of phosphorus is :
(1) 2 2) 0 (1) 2 2) 0
(3) 4 4 3 (3) 4 4 3
115. Fefofgg & @ SE-A1  SUHRG 115. Which of the following is not an

TG T T FETET 7§ 7

example of a modified underground

stem ?
(1) sy (1) Potato

(2) IRE (2) Ginger
(3) &l (3) Turmeric
(4) FTHeH (4) Groundnut

Level-2/211



116, Freiiefad o & R g@aSt e

[
ol

o 7&f ¥ 7
Cl
a—}—a
(1) 2 ) 18
3) 6 4) 20

UeY & o9 § oW W B FH Mo
T HIT

(1) HMEX T R
(2) Wi T T
(3) 9C ud H

(4) FNF TG 39

BT 3 9 TH SIS T,
SRS ST ST & 7

(a) TEH THNIE FHHM gl B
(b) TH JRRASA H HE&AT ol B
(c) HH TXATY] HHi® THM & ol

(d) 3 s Her § ghw e R
e} T B

(1) (a) T (c)

(2) (b) T (d)

(3) %9 (d)

(4) B9 (c)

Level-2/211
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[A]

116. How many valence electrons are not

shared in the following molecule ?

Cl‘l

Cl— P-ClI
(1) 2 2) 18
3) 6 4) 20

Select the pair of fibres obtained

from the stem of a plant :
(1) Coir and Flax

(2) Flax and Jute

(3) Jute and Kapok

(4) Kapok and Hemp

What happens when an oxygen atom

becomes an oxygen ion ?

(a) It's atomic mass decreases.
(b) It's nucleon number increases.
number remains

(c) It's atomic

same.
(d) It's mass number increases.
Correct option is :

(1) (2)and (c)

(2) (b) and (d)

(3) only (d)

(4) only (c)



[A]

119.

120.

T IHEYY H S bR Bl &
b :

(1) et MaATHR &
(2) a5t A T MNABR &
(3) ¥ AR &
(4) TR A MaARBR &
'A' T 'B' I TEEIT
Cro;y
N
st |CH,COOH

KRN
KvnO,

CHCH,OH

(1) A= CH3CHO,B = CH;COOH
(2) A= CH;COOH ,B = CH;CHO
(3) A=HCHO, B= CO,

(4) A= CH;CHO,B = CH,=CH,
T HIG FEHETT DA G
TR 787 et © ?

(1) STHRS T IAE B A STae

(2) ARHRSH T I ad IAE B
QRATISAT/ATAT G

(3) TH faRr affear § @i
el qerel & Wik T g

(4) % fafdme Af¥Bh g § 999
g orepEr Wl
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119. A rainbow has a circular shape

because of :

(1) the earth is spherical

(2) the raindrops are spherical
(3) the sun is spherical

(4) our eyes are spherical

120. Identify 'A' and 'B':

cro;
S
CH,COOH

A‘
C H3 C H2 OH Oxidation

Alkaline
; |B ]
KM n O 4

(1) A= CH;CHO,B = CH;COOH
(2) A= CH,COOH , B = CH;CHO
(3) A=HCHO, B = CO,

(4) A= CH,CHO,B = CH,=CH,

Which information is not conveyed

by a balanced chemical equation ?

(1) Physical states of reactants and

products

(2) Number of atoms/molecules of

the reactants and product formed

(3) Symbols and formulae of all the
substances involved in a particular

reaction

(4) Whether a particular reaction is

actually feasible or not



ale & fafire S = 0.4 T g tec!

qFT P FT B H =400 g !
(1) 1.25kg
(2) 1.50 kg
(3) 1.75 kg

(4) 1.80kg

& foEg dact & & o ek
gl 99 g7 | UH FUel B SedEd
gR1 HId @ Sl S 8, @ b J
gt 10 e § I 21 S gEd
FHISAl H STEN BT ST &, @ 9
Bl GHA AN BN FeH F 15 B w@
g I ol AR Il FuskEd @l
IR Sig fRar §@, @
TIE AE0 & I § fha w9
i ?

(1) 6 e (2) 12 fiFe

(3) 18 e 4) 24 e

Level-2/211

[A]

A copper block of mass 2.5 kg is
heated in a furnace to a temperature
of 500°C and then placed on a large
ice block. The maximum amount of
ice that can be melt, will be :

Given :

Specific heat of copper
=04Jg loc!

Heat of fusion of water =400J g_1
(1) 1.25kg
(2) 1.50 kg
(3) 1.75kg

(4) 1.80 kg

An electric kettle has two heating
coils. When one of the coil is
connected to an alternating current
source the water in the kettle boils in
10 minutes. When the other coil is
used, the same quantity of water
takes 15 minutes in boil. How long
will it take for the same quantity of
water to boil, if the two coils are

connected in parallel ?
(1) 6 minute (2) 12 minute

(3) 18 minute (4) 24 minute

P.T.O.



[A]

124. f=ififeg & @ @F-a1 & 98 787
g7

(1) @F T & o T Iqae &I
F A AT B

(2) W @ & o9 g Yo A
FaRed w©d &l

() T 3@ H v Wit fRaid @
IRl 3T HY~ T B

(4) 99g (o) & SfaiEd, @6 ™
% Y Th-ga} W A= GeH &
AT B R

125. S & A & gad § fy=faiad
T q H9-9T HIF 99 78 o °

(1) @ & gha & Fo & TS ol
g3 I Bl

(2) 5 % F1 Wh-ga] | @ fERa
B Bl

(3) %A & & Gl ReneAl § AGRED
T X B

(4) % FEq d9 ) 9 3= B w0
& Tt ol FHM & B
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124.

Which of the following statement is

not true ?

(1) The molecules of a gas occupy

all the space available.

(2) The molecules in a liquid are

arranged in a regular pattern.

(3) The molecules in a solid vibrate

about a fixed position.

(4) The molecules in a gas exert
negligibly small forces on each

other, except during collisions.

Which of the following statement is
not true regarding the characteristic

of matter ?

(1) Kinetic energy of the particles
increases with a rise in

temperature.

(2) Particles of matter diffuse into

each other on their own.

(3) Particles of a matter are
randomly moving in all the

directions.

(4) Kinetic energy of the particles in
all matters remains the same at a

particular temperature.



126.

TE & TR AR R el & H

HepeUeT fhg eTives = &1 ?

(1) So o AHET
(2) wieq AKX
(3) ST EHe

(4) faferm g

afpT A1 g der W e
HI-91 T IS 78 T 7

(1) o™
(2) eEgSH
(3) HifsT™

(4) FE
%I SIABHAT ke AeT 9

I W G T 2
(1) rsiiie Qs
(2) Tcebleett

(3) Wittt

(4) TE

...........
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[A]

126. Which scientist gave the concept of

fixed energy levels around the nucleus ?

(1) J.J. Thomson

(2) Neils Bohr

(3) Ernest Rutherford

(4) William Crooks

The element which is rot common

between the compounds called

baking soda and soda ash is :

(1) Oxygen

(2) Hydrogen

(3) Sodium

(4) Carbon

Soaps are formed by the reaction of

........... with caustic soda.
(1) carbonyl compounds
(2) alcohols

(3) phenols

(4) esters



[A]

129. IEHONGH & TaH H FAq HAT A

[
(=]

[
[

T HIT

(1) eNas H sRaaas Sured &
T 2|

(2) TGHINE TE&T o9 B ST T
TS, TG H ol

(3) zEH FRHEE fa e &
RO HFI W T el ol

(4) SEHCIae §  Wawed  IuRed
BT 2

(1) I'g H,
3) 1g COo,
Bt (dffere giforgi~re) a9s & d=
gy qe?

(1) g=fead §fymg & gfdeniay aar
Bl

(2) Bt-U9% U 39 Hewish qet B
ST # ggE B B

(2) 1g N,

(4) 1g CHy

(3) g ¥ Bronfay ww  Gied
fay & w9 § TEr B

(4) GFFT STy die® & TSl H
Jafdd & 3@ §8 HT 3 ©
T 39 JHR T B T ol
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129.

=
w

el
[

Select the incorrect statement with

reference to the collenchyma :

(1) Chloroplasts may be present in

collenchyma.

(2) Collenchyma allow

bending without breakage of the

easy

young stem.

(3) Its cells are thickened at the

corners due to deposition of lignin.

(4) Protoplasm is  present in

collenchyma.

Which of the following contains

maximum number of molecules ?

(1) 1g H,

3) 1g CO,

(2) 1g N,
(4) 1g CHy

What is true about Bt (Bacillus

thuringiensis) strain ?

(1) The concerned Bacillus has

antitoxins.

(2) The Bt-strains have been used for
designing novel Bioinsecticidal

plants.

(3) Bt-toxins exists as active toxins

in the Bacillus.

(4) The activated toxins enters the
ovaries of the pest to sterilize it

and thus prevent its multiplication.



132, WdF WU B UREE % &N

HIFST ST oA B

(1) wifrErTE

(2) fedt

(3) AT

(4) St

HIF-|1 GAlIT 78 © 7

(1) @97y - Ti Qs

(2) FRHAS - aTEH SITAY

(3) BT - FEESTEl N, S e

(4) ufeafen (Sravie) - ST
JUHEr S

59 & fve @M &9 4 g @l
X M FT B A GH 6 m/s T FA
2t 31 AR AN fvs (T aftla) @
g Rem d g9F fd § T@d §, @
& 9= B T 4 m/s F Fedh B, T
It et & 9 B

(1) 7m/s,3m/s (2) 5m/s, 1 m/s

(3) 4m/s,2m/s (4) 3 m/s,3 m/s
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132.

[A]

The amino acid coded by the start

codon for protein synthesis is :

(1) Methionine

(2) Tryptophan

(3) Valine

(4) Arginine

Which is not correctly matched ?
(1) Agrobacterium — Ti Plasmid

(2) Cosmid — Vector DNA

(3) Rhizobium — Asymbiotic N, fixer

(4) Albinism — Autosomal recessive

gene

When two bodies move uniformly
towards each other, the distance
decrease by 6 m/s. If both the bodies
moves (as above) in the same
direction with the same speed, the
distance between them increases by
4 m/s. Then the speed of the two

bodies are :
(1) 7m/s,3m/s (2) 5m/s, 1 m/s
(3) 4m/s,2m/s (4) 3m/s,3 m/s

P.T.O.



[A] [40]

135. o & HEfaRad a'mﬁ ¥ q A9 135. In which of the following pairs are
AEad 9ROl & 99M ofEd H IuRed the element found in the same period
g7 of the periodic table ?

(1) 9T qe qaf s (1) Sulphur and Selenium

(2) EET qor Hieqay (2) Strontium and Calcium
(3) Dicaay T FHWEH (3) Calcium and Germanium
(4) TR qen He (4) Potassium and Manganese

136. @& ud 2 136. The correct match is :

- AZSA IHdh eanthes — Botryoidal tissue
(1) Frgferer - gt (1) Neanthes — Botryoidal ti
(2) FllerT - AEH (2) Chaetopterus — Lugworm
(3) &Y - I (3) Earthworm — Suckers
(4) 820 - o7 @t e SR (4) Heteronereis — A sexual phase
of Nereis

137. 'L CIK 137. square frame of side carries a

137. o L' & TF I6R %A H 137. A square fi f side 'L' carri
yaied &l 31 39% e UK RASEDR current /. The magnetic field at its
§ B B M 9T & a1 & 99 centre is B. The same current is

e et} passed through a circular coil having
; ﬁ?;ﬁ QEB% ERA 5“!\ g the same perimeter as the square.
Siidl &l grllwlt gl The magnetic field at the centre of
i , B he circul il is B". The ratio of
3T W q B Y Lo the circular coi )
B B . .
S 3. G is:
82 82 82 82
(1) —5- 2) —5 (1) —\/2_ 2) —*/3_
T T T T
82 442
(3) —= 4) — 3) 842 4) @
T T T T

Level-2/211



138.

T g X @ AT 4§ HEAE FUC
H SR Tl ST 21 S &1 Th gEd
T 'Y B OH SO W T e
T BIeT 91 B T ¢ W 'Y' D 9o
X' & AT B

(1) u—2gt

(2) Ju®-2gH

3) u

4) 2u

afe gedt &l B 1% 9 Rgg i s,

e FEd wa §, @ g @ §de
W ToeEd @ 8

(1) ST

2) ¢

(3) ¢ ¥ A®

4) ¢¥ FH

Level-2/211

[41]

138.

[A]

A ball X'

upwards with speed u. At the same

is thrown vertically
instant another ball 'Y' is released

from rest at height H. At time ¢, the

speed of 'X' relative to "Y' is :
(1) u—2gt

(2) Ju®-2gH

3) u

4) 2u

If the radius of the earth were to

shrink by 1%, the density remaining

constant, the acceleration due to

gravity on the surface of the earth

will be :

(1) infinite

2) ¢

(3) more than g

(4) less than g



=
:Ello.
=

a

(1) CAEBD
(2) ACEDB
(3) CEABD

(4) BDEAC

IR B =B T 30° P T q W
5m/s & AT ¥ FW & AR A H
W T 05s % 9% &F ol §,
qYYT T T T BN

(1) 0.5
(2) 0.6
(3) 0.9

@) 1.1
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140.

Select the hierarchy (descending) of
the taxonomic ranks using the codes

given below :
A. Order
B. Genus
C. Class
D. Species
E. Family
Codes :

(1) CAEBD
(2) ACEDB
(3) CEABD

(4) BDEAC

If a block moving upon an inclined
plane at 30° with a velocity of 5 m/s,
stops after 0.5 s. Then coefficient of

friction will be nearly :
(1) 0.5
(2) 0.6
3) 0.9

4 1.1



142.

Uk S & U8 & SAlaea ~300 9§
B Bl AR T IO foeR W &
g & ol S HH B [T IHd
wie (A &d=) & Sieman S 8 e
SE §E T 4 US I S ol
3q W | @@ [9eq ® T &Y

(1) depd 99 dF § "kl rEd
SEEN (ga) B

(2) 98 ViR F3 aW P & & HEA
S (*gga) 8 arR

(3) 9 9hAT H IS HEA A T
Bl

(4) 39 9 | HIg S
T B

frafofed & & -9 o & MR
W, dF qrafs TR @ el H A
7 T ?

() [
(2) gue
(3) e

(4) R e
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142.

[A]

A banyan tree's life time is ~300
years. If a fully grown banyan tree is
burnt in a thermal power plant to
generate energy and at the same time
a new tree is planted. Choose the

correct option in this context :

(1) The process is carbon neutral in

immediate time frame.

(2) The process will become carbon

neutral only after many years.

(3) There is no carbon involved in

this process.

(4) There is no oxygen involved in

this process.

Which of the following is not one of
the three primary types of soil based

on its texture ?

(1) Sand

(2) Loam

(3) Silt

(4) Clay



[
1N

Frfeitag & § 59 @@ H Fhtead
S 78 © ?

(1) e e
(2) 4/E_ aET

(1) snRNA
(2) mRNA
(3) TRNA

(4) tRNA

AR %9 H G Sk b
& akg 6/5 Q 81 59 @ g
R g2 ST 8, A q9E Sekg 2Q @
ST 81 ¢ BU AR & Sy o

(1) 20
2) 3Q
(3) 5Q

4) 7Q

Level-2/211
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144. Which of the following salts has no

water of crystallization ?
(1) Blue vitriol

(2) Washing soda

(3) Gypsum

(4) Baking soda

The adaptor molecule in the process

of translation is :
(1) snRNA
(2) mRNA
(3) rRNA

(4) tRNA

The equivalent resistance of the
resistances joined in parallel is 6/5 Q
when one of the resistance wire is
broken, the effective resistance
becomes 2Q2. The resistance of wire

that got broken was :
(1) 2Q
(2) 3Q
(3) 5Q

4) 7Q



1417.

T & AR U STfafed gart e
ST B S AgRedl & WY HYE BT
TF TG IS ST 2

.........

(1) TR ()
(2) agAsT
(3) muE

(4) 9%

T JH g w©@a: &9 8 Sl & T
M, Th Foda 3T T

(1) T g

(2) T Siogfel
(3) A

ooooooooooo

(4) & 9§ Big T

TH UMl B U9 H AR 2 kW Bl T
T e & 10 m & SHaE dF Il
P b BT (irex H) =rer w@ebn © ?

(g=10 m/s2)
(1) 100 (2) 1000
(3) 1200 (4) 2000

Level-2/211
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1417.

[A]

During smelting an additional
substance is added which combines
with impurities to form a

fusible product.

(1) Flux

(2) Slag

(3) Gangue

(4) Mud

A free neutron decays spontaneously

into a proton, an electron

and ......... .

(1) A neutrino

(2) An antineutrino
(3) Both

(4) None of these

The power of a water pump is 2 kW.
The amount of water (in litres) it can
raise in one minute to a height of
10 m will be :

(g=10m/s%)
(1) 100 (2) 1000
(3) 1200 (4) 2000
P.T.O
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150. T% T9 % B R Uh & H B
B TG Lo X Lg 3 TBR &
STH TEE B oS B SiaX Gl
IRAYT F qUEN W GEN 21 3 di
IR W & Wk R s Fasn
(Xch'(XS %,ﬁfﬂ'@léww
o | =T w9 | deERa B

Le _as
) E=
(2) Lc—Lg =0, —0g
I o 1/2
3) =< [—CJ
Lc _ac
4 €=
Ls g

[46]

150. A copper rod and a steel rod are to

have lengths L- and Lg, such that
the difference between their lengths
is the same at all ambient
temperature. If the coefficients of
linear expansion of copper and steels
are o and og respectively. The
lengths are related to the coefficient
of linear expansion as :

(1) L_C:%
Ls oc
1/2
3) L_C:[OL_CJ
Ly \og
(4) L_C:a_c
Ls ag

Level-2/211



% %4 & T (FOR ROUGH WORK)




R @& @
IR TF F RN GHEF B X 3§ O SR IR T H
Sl

N
6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & ik H T II AFYIH

J
. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. J% 99 & 0 RU U =R fowed § & S faecy & T OMR ST % W #ad 06 99 & & T 06 & a9 @R’e 0

¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR ol TeAN W & ofoRe Rl ser @ argg-aren, gd o st s & afr,
JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T 2 T T sWER 9 W AR sERR R faer erwd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e Y a1 ¥ A e f 3ER I T e e’ & R T HET &
A AT STCT OMR S O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W M @ ] [ Qe @@ Aen § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)
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S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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